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§ 7. YpaBHeHMe TennonpoBoaHocTU (ypaBHeHne dypbe)




u=u(x,t) (0<x</ 0=<t<+x)

0 = const Cc = const K = const
d(x, t) IDk/(k2-KP) 19K = 1°C
ou ou
dQ,=-ko_Sdt, (7.1) S~ 0
AV | n i X U X+ dX
dQ dt

PSP(X, t)dxdt (7.2.)

ou

dQ,=-k—_Sdt, (7.3)



8
dQ = -k—

—\ cone SAt + pSD(x, t) dxdt . (7.4)
f(x+Ax) f(x) + f(x)dx  (7.5)

ou au O°u

a x+Ax — =+ ax X dX. (76)
B Gu

dQ = Gx

0SD(x,t) dxdt  (7.7)

dQ =k 2 Sdxdt + pSD(x,t)dxdt. (7.8)



dQ = Sdxdt(k gx + pd(x,t))  (7.9)

Au = (';_u dt AV paBHa pSdx
[

ou
dQ = CdeXE dt. (7.10)
O°u ou

Py Sdxdt + pSP(x, t)dxdt = cdeXE dt. (7.11)
ou

dedt(kgx—? +pd(x, ) = epSdx —-dt.  (7.12)

k

0 u ou
k6x2 - pD(X, t)cha. (7.13)




cp

ou
ot
ou
ot

2
o a~, (7.14)
282% 1
— d axz + ;(D(X, t) (715)
282u
— d axz . (716)
ou O u 52
@l‘_a(@x 2) (717)
@u 8 u 621/1 @2
ot a(ﬁx @y 2) (7.18)



M _2Au,  (7.19)

ot , i
o’u Ou Ou
Au = + I 7.20
ox> oy’ 0z’ ( )
§ 8. PewmeHue 3agaym o pacnpeneneHumn
TemMmneparypbl

B OrpaHnN4eHHOM CTEpPKHe

u=ulxt) o @2
.0 a—’“; = (0<x<D. (8.1)

u(x, 0) = f(x) x—Omx=l
u(0, t) =0, u(/, t) = 0 npn ntobom t = 0




